# A characterization of S-pseudospectra of linear operators in a Hilbert space 

Aymen Ammar ${ }^{\text {a }}$, Ameni Bouchekoua ${ }^{\text {a }}$, Aref Jeribi ${ }^{\text {a }}$<br>${ }^{a}$ Department of Mathematics, University of Sfax, Faculty of Sciences of Sfax, Soukra Road Km 3.5, B. P. 1171, 3000, Sfax, Tunisia


#### Abstract

In this work, we introduce and study the S-pseudospectra of linear operators defined by nonstrict inequality in a Hilbert space. Inspired by A. Böttcher's result [3], we prove that the S-resolvent norm of bounded linear operators is not constant in any open set of the S-resolvent set. Beside, we find a characterization of the S-pseudospectrum of bounded linear operator by means the S-spectra of all perturbed operators with perturbations that have norms strictly less than $\varepsilon$.


## 1. Introduction

The concept of pseudospectra was developed by many mathematicians. For example, we can cite J. M. Varah [12], L. N. Trefethen [10, 11], A. Jeribi [5, 6] and A. Ammar and A. Jeribi [1]. We refer the reader to L. N . Trefethen [10] for the definition pseudospectra of the closed linear operator $A$

$$
\Sigma_{\varepsilon}(A):=\sigma(A) \bigcup\left\{\lambda \in \mathbb{C}:\left\|(\lambda-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\}
$$

where $\varepsilon>0$. By convention $\left\|(\lambda-A)^{-1}\right\|=+\infty$ if, and only if, $\lambda \in \sigma(A)$. If $A$ is self-adjoint operator, then we have

$$
\begin{equation*}
\left\|(\lambda-A)^{-1}\right\|=\frac{1}{d(\lambda, \sigma(A))} \tag{1.1}
\end{equation*}
$$

where $d(\lambda, \sigma(A))$ : is the distance between $\lambda$ and the spectrum of $A$.
In [9], T. Finck and T. Ehrhardt have proved that the pseudospectra of a bounded linear operator acting in a Hilbert space, is equal to the union of the spectra of all perturbed operators with perturbations that have norms less than $\varepsilon$, i.e.,

$$
\Sigma_{\varepsilon}(A)=\bigcup_{\|D\| \leq \varepsilon} \sigma(A+D) .
$$

Until now, a number of papers devoted to extend this notion to the S-pseudospectra that is also studied under the name pseudospectra of operator pencils (e.g [4]).

[^0]In this work, we study some properties of the S-pseudospectrum of linear operators in a Hilbert space and we show that the S-resolvent of a bounded operator cannot have constant norm. After that, we establish a characterization of S-pseudospectrum.

We organize our paper in the following way: Section 2 contains preliminary properties that we will need to prove the main results. In Section 3, we begin giving some proprieties of S-pseudospectrum of linear operators in a Hilbert space. Beside that, we characterize the S-pseudospectrum of bounded linear operators by means of perturbation of its S-spectrum in a Hilbert space.

## 2. Preliminary results

The goal of this section consists in collect some results which will be needed in the sequel.
Throughout this paper, let $H$ be a Hilbert space over $\mathbb{K}=\mathbb{R}$ or $\mathbb{C}$. We denote by $\mathcal{L}(H)$ the set of all bounded linear operators from $H$ into $H$. For $A \in \mathcal{L}(H)$, we will denote by $\mathcal{D}(A)$ the domain, $N(A)$ the null space and $R(A)$ the range of $A$.

Definition 2.1. (i) Let $A \in \mathcal{L}(H)$. The linear operator $A^{\prime}$ is called the adjoint of $A$ if $\langle A x, y\rangle=\left\langle x, A^{\prime} y\right\rangle$, for all $x, y \in H$. The operator $A^{\prime}$ is called the adjoint of $A$.
(ii) A densely defined operator $A$ on $H$ is called symmetric, if $A \subset A^{\prime}$, that is, if $\mathcal{D}(A) \subset \mathcal{D}\left(A^{\prime}\right)$ and $A x=A^{\prime} x$, for all $x \in \mathcal{D}(A)$. Equivalently, $A$ is symmetric if, and only if, $\langle A x, y\rangle=\langle x, A y\rangle$, for all $x, y \in \mathcal{D}(A)$.
(iii) $A$ is called self-adjoint if $A=A^{\prime}$ that is, if, and only if, $A$ is symmetric and $\mathcal{D}(A)=\mathcal{D}\left(A^{\prime}\right)$.

Lemma 2.1. [7, Theorem 11.3] If $A, B \in \mathcal{L}(H)$. Then,
(i) $(A+B)^{\prime}=A^{\prime}+B^{\prime}$;
(ii) $(\lambda A)^{\prime}=\bar{\lambda} A^{\prime}$, for all $\lambda \in \mathbb{C}$;
(iii) $(A B)^{\prime}=B^{\prime} A^{\prime}$;
(iv) $\left(A^{\prime}\right)^{\prime}=A$.

Proposition 2.1. [7] Let $A \in \mathcal{L}(H)$. Then,
(i) $A$ is invertible if, and only if, its adjoint $A^{\prime}$ is invertible, and in that case

$$
\left(A^{-1}\right)^{\prime}=\left(A^{\prime}\right)^{-1}
$$

(ii) $A^{\prime} \in \mathcal{L}\left(H^{\prime}\right)$ and $\left\|A^{\prime}\right\|=\|A\|$.

Proposition 2.2. Let $A \in \mathcal{L}(H)$.
(i) $\left[8\right.$, Theorem 7.3.1] If $\|A\|<1$, then $(I-A)^{-1}$ exists as a bounded linear operator on $X$ and $(I-A)^{-1}=\sum_{n=0}^{+\infty} A^{n}$.
(ii)[6, Theorem 3.3.2] Let $S \in \mathcal{L}(H)$ such that $S \neq A$ and $S \neq 0 S$ commutes with $A$, then for any $\lambda$ and $\lambda_{0} \in \rho_{S}(A)$ with $\left|\lambda-\lambda_{0}\right|<\left\|\left(\lambda_{0} S-A\right)^{-1} S\right\|^{-1}$, we have

$$
(\lambda S-A)^{-1}=\sum_{n \geq 0}\left(\lambda-\lambda_{0}\right)^{n} S^{n}\left(\lambda_{0} S-A\right)^{-(n+1)}
$$

Definition 2.2. (i) Let $A \in \mathcal{L}(H)$. The resolvent set and the spectrum set of $A$ are define, respectively, by:

$$
\rho(A)=\{\lambda \in \mathbb{C}: \lambda-A \text { is invertible }\}
$$

and $\sigma(A)=\mathbb{C} \backslash \rho(A)$.
(ii) Let $A \in \mathcal{L}(H)$. The spectral radius of $A$ is defined by:

$$
r(A)=\sup \{|\lambda|: \lambda \in \sigma(A)\}
$$

(iii) Let $S \in \mathcal{L}(H)$ such that $S \neq 0$. For $A \in \mathcal{L}(H)$, we define the $S$-resolvent set of $A$ by:

$$
\rho_{S}(A)=\{\lambda \in \mathbb{C}: \lambda S-A \text { has a bounded inverse }\}
$$

and the $S$-spectrum of $A$ by: $\sigma_{S}(A)=\mathbb{C} \backslash \rho_{S}(A)$.
$\diamond$
Remark 2.1. [6, Proposition 3.3.1] Let $A \in \mathcal{L}(H), S \in \mathcal{L}(H)$ such that $S \neq 0$. Then, the $S$-resolvent set $\rho_{S}(A)$ is open.

Lemma 2.2. [6, Remark 3.3.1] If $A \in \mathcal{L}(H)$ and $S$ is an invertible bounded operator, then

$$
\sigma_{S}(A)=\sigma\left(S^{-1} A\right) \bigcap \sigma\left(A S^{-1}\right)
$$

Remark 2.2. Let $A \in \mathcal{L}(H)$. Let $S$ be a non-null bounded operator such that $S \neq A$.

$$
\rho_{S}(A)=\overline{\rho_{S^{\prime}}\left(A^{\prime}\right)}
$$

Indeed, it follows from Proposition 2.1 and Lemma 2.1 that

$$
\begin{aligned}
\rho_{S}(A) & =\{\lambda \in \mathbb{C}: \lambda S-A \text { has a bounded inverse }\} \\
& =\left\{\lambda \in \mathbb{C}:(\lambda S-A)^{\prime} \text { has a bounded inverse }\right\} \\
& =\left\{\lambda \in \mathbb{C}: \bar{\lambda} S^{\prime}-A^{\prime} \text { has a bounded inverse }\right\} \\
& =\frac{\rho_{S^{\prime}}\left(A^{\prime}\right)}{} .
\end{aligned}
$$

## 3. Main results

The goal of this section is to study some proprieties of S-pseudospectra of linear operator in a Hilbert space and to find a relationship between S-spectra and S-pseudospectra.
Definition 3.1. Let $A \in \mathcal{L}(H)$ and $\varepsilon>0$. Let $S$ be a non-null bounded operator such that $S \neq A$. We define the S-pseudospectra of $A$ by:

$$
\Sigma_{S, \varepsilon}(A)=\sigma_{S}(A) \bigcup\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\}
$$

by convention $\left\|(\lambda S-A)^{-1}\right\|=+\infty$ if, and only if, $\lambda \in \sigma_{S}(A)$.
Lemma 3.1. Let $A \in \mathcal{L}(H)$ and $\varepsilon>0$. Let $S$ be a non-null bounded operator such that $S \neq A$. Then, $\Sigma_{S, \varepsilon}(A)$ is closed.

Proof. We consider the following function

$$
\begin{array}{ccc}
\varphi: \rho_{S}(A) & \longrightarrow & \mathbb{R}_{+} \\
\lambda & \longmapsto & \left\|(\lambda S-A)^{-1}\right\| .
\end{array}
$$

It is clear that $\varphi$ is continuous and

$$
\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\|<\frac{1}{\varepsilon}\right\}=\varphi^{-1}(]-\infty, \frac{1}{\varepsilon}[)
$$

So, we can deduce that $\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\|<\frac{1}{\varepsilon}\right\}$ is open. Finally, the use of Remark 2.1 allows us to conclude that $\rho_{S, \varepsilon}(A)$ is open. This is equivalent to saying that $\Sigma_{S, \varepsilon}(A)$ is closed.

Proposition 3.1. Let $A \in \mathcal{L}(H)$ and $\varepsilon>0$. Let $S$ be a non-null bounded operator such that $S \neq A$. Then,

$$
\Sigma_{S^{\prime}, \varepsilon}\left(A^{\prime}\right)=\overline{\Sigma_{S, \varepsilon}(A)}
$$

Proof. By using Lemma 2.1 and proposition 2.1, we obtain

$$
\begin{aligned}
\left\|(\lambda S-A)^{-1}\right\| & =\left\|\left((\lambda S-A)^{-1}\right)^{\prime}\right\| \\
& =\left\|\left((\lambda S-A)^{\prime}\right)^{-1}\right\| \\
& =\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|
\end{aligned}
$$

Finally, the use of Remark 2.2 allows us to conclude that $\Sigma_{S^{\prime}, \varepsilon}\left(A^{\prime}\right)=\overline{\Sigma_{S, \varepsilon}(A)}$.
Theorem 3.1. Let $A$ be a bounded invertible operator on $H, S=A^{-1}$ and $\varepsilon>0$. If $A$ is self-adjoint, then we have (i) $\Sigma_{S, \varepsilon}(A) \subseteq \sigma\left(S^{-1} A\right) \cup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\left\|S^{-1}\right\| \varepsilon\right\}$.
(ii) $\sigma\left(S^{-1} A\right) \cup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\|S\|^{-1} \varepsilon\right\} \subseteq \Sigma_{S, \varepsilon}(A)$.
(iii) Moreover, if $\|A\|=\left\|A^{-1}\right\|=1$, then

$$
\Sigma_{S, \varepsilon}(A)=\sigma\left(S^{-1} A\right) \cup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq \varepsilon\right\} .
$$

Proof. Since $S=A^{-1}$, then $S$ is invertible, $S^{-1}=A$ and $S^{-1} A=A S^{-1}$. It follows from Lemma 2.2 that

$$
\sigma_{S}(A)=\sigma\left(S^{-1} A\right)=\sigma\left(A S^{-1}\right)
$$

Consequently,

$$
\begin{equation*}
\Sigma_{S, \varepsilon}(A)=\sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\} \tag{3.1}
\end{equation*}
$$

(i) For $\lambda \in \mathbb{C}$, we can write

$$
\begin{aligned}
\left\|(\lambda S-A)^{-1}\right\| & =\left\|\left(S\left(\lambda-S^{-1} A\right)\right)^{-1}\right\| \\
& =\left\|\left(\lambda-S^{-1} A\right)^{-1} S^{-1}\right\| \\
& \leq\left\|\left(\lambda-S^{-1} A\right)^{-1}\right\|\left\|S^{-1}\right\| .
\end{aligned}
$$

Therefore,

$$
\begin{equation*}
\left\|(\lambda S-A)^{-1}\right\|\left\|S^{-1}\right\|^{-1} \leq\left\|\left(\lambda-S^{-1} A\right)^{-1}\right\| \tag{3.2}
\end{equation*}
$$

Let $\lambda \in \Sigma_{S, \varepsilon}(A)$. Then, by (3.1), we have

$$
\lambda \in \sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\}
$$

It is clear that

$$
\sigma\left(S^{-1} A\right) \subset \sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\left\|S^{-1}\right\| \varepsilon\right\}
$$

Then, it is sufficient to show that

$$
\Sigma_{S, \varepsilon}(A) \backslash \sigma\left(S^{-1} A\right) \subset \sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\left\|S^{-1}\right\| \varepsilon\right\}
$$

Let $\lambda \in\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\}$. Then, using (3.2), we obtain

$$
\begin{equation*}
\left\|\left(\lambda-S^{-1} A\right)^{-1}\right\| \geq \frac{1}{\varepsilon\left\|S^{-1}\right\|} \tag{3.3}
\end{equation*}
$$

Now, combining the fact that $S=A^{-1}$ and (iii) of Lemma 2.1, we infer that

$$
\begin{aligned}
\left(S^{-1} A\right)^{\prime} & =A^{\prime}\left(S^{-1}\right)^{\prime} \\
& =A A^{\prime} \\
& =S^{-1} A
\end{aligned}
$$

which yields $S^{-1} A$ is self-adjoint. By referring to (1.1), we have

$$
\begin{equation*}
\left\|\left(\lambda-S^{-1} A\right)^{-1}\right\|=\frac{1}{d\left(\lambda, \sigma\left(S^{-1} A\right)\right)}=\frac{1}{\inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu|} \tag{3.4}
\end{equation*}
$$

Hence, by (3.3), we conclude that $\inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\left\|S^{-1}\right\| \varepsilon$. This shows that

$$
\Sigma_{S, \varepsilon}(A) \subset \sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\left\|S^{-1}\right\| \varepsilon\right\} .
$$

(ii) For $\lambda \in \mathbb{C}$, we can write

$$
\begin{aligned}
\left\|\left(\lambda-S^{-1} A\right)^{-1}\right\| & =\left\|\left(S^{-1}(\lambda S-A)\right)^{-1}\right\| \\
& \leq\left\|(\lambda S-A)^{-1}\right\|\|S\|
\end{aligned}
$$

Therefore,

$$
\begin{equation*}
\left\|(\lambda S-A)^{-1} \mid\right\|\|\geq\|\left(\lambda-S^{-1} A\right)^{-1}\| \| S \|^{-1} \tag{3.5}
\end{equation*}
$$

Let us assume that $\lambda \in\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\|S\|^{-1} \varepsilon\right\}$, then by (3.4), we infer that

$$
\left\|\left(\lambda-S^{-1} A\right)^{-1}\right\| \geq \frac{\|S\|}{\varepsilon}
$$

By referring to (3.5), we have

$$
\left\|(\lambda S-A)^{-1}\right\|\left\|\| \frac{1}{\varepsilon}\right.
$$

The use of (3.1) makes us conclude that

$$
\sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq\|S\|^{-1} \varepsilon\right\} \subseteq \Sigma_{S, \varepsilon}(A)
$$

(iii) Using the fact that $S=A^{-1}$ and $\|A\|=\left\|A^{-1}\right\|=1$, then

$$
\begin{equation*}
\left\|S^{-1}\right\|=\|A\|=\left\|A^{-1}\right\|=\|S\|=1 \tag{3.6}
\end{equation*}
$$

Finally, the use of (i), (ii) of Theorem 3.1 and (3.6) allows us to conclude that

$$
\Sigma_{S, \varepsilon}(A)=\sigma\left(S^{-1} A\right) \bigcup\left\{\lambda \in \mathbb{C}: \inf _{\mu \in \sigma\left(S^{-1} A\right)}|\lambda-\mu| \leq \varepsilon\right\} .
$$

Remark 3.1. From Theorem 3.1, it follows immediately that

$$
\begin{equation*}
\sigma_{\varepsilon\|A\|^{-1}}\left(A^{2}\right) \subseteq \Sigma_{A, \varepsilon}(A) \subseteq \Sigma_{\varepsilon\|A\|}\left(A^{2}\right) \tag{3.7}
\end{equation*}
$$

and that equality holds in (3.7), if $\|A\|=\left\|A^{-1}\right\|=1$.

Theorem 3.2. Let $A \in \mathcal{L}(H)$ and $\varepsilon>0$. Let $S \in \mathcal{L}(H)$ such that $S \neq 0$ and $S \neq A+D$, for all $D \in \mathcal{L}(H)$ with $\|D\|<\varepsilon$. Then,

$$
\bigcup_{\|D\|<\varepsilon} \sigma_{S}(A+D) \subset \Sigma_{S, \varepsilon}(A)
$$

Proof. Let us assume that $\lambda \in \bigcup_{\|D\|<\varepsilon} \sigma_{S}(A+D)$. Then, there exists $D \in \mathcal{L}(X)$ such that $\|D\|<\varepsilon$ and $\lambda \in \sigma_{S}(A+D)$. We derive a contradiction from the assumption that $\lambda \in \rho_{S}(A)$ and $\left\|(\lambda S-A)^{-1}\right\|<\frac{1}{\varepsilon}$. For $\lambda \in \rho_{S}(A)$, we can write

$$
\begin{equation*}
\lambda S-A-D=(\lambda S-A)\left(I-(\lambda S-A)^{-1} D\right) \tag{3.8}
\end{equation*}
$$

Since

$$
\begin{aligned}
\left\|(\lambda S-A)^{-1} D\right\| & \leq\left\|(\lambda S-A)^{-1}\right\|\|D\| \\
& <\frac{\varepsilon}{\varepsilon} \\
& <1
\end{aligned}
$$

then by using (i) of Proposition 2.2, we infer that $I-(\lambda S-A)^{-1} D$ is invertible. By referring to (3.8), we conclude that $\lambda S-A-D$ is invertible. This is equivalent to say that $\lambda \in \rho_{S}(A+D)$.

As an immediate consequence of Lemma 3.1 and Theorem 3.2, we have
Corollary 3.1. Let $A \in \mathcal{L}(H)$ and $\varepsilon>0$. Let $S \in \mathcal{L}(H)$ such that $S \neq 0$ and $S \neq A+D$, for all $D \in \mathcal{L}(H)$ with $\|D\| \leq \varepsilon$, then we have

$$
\operatorname{clos}\left(\bigcup_{\|D\|<\varepsilon} \sigma_{S}(A+D)\right) \subset \Sigma_{S, \varepsilon}(A)
$$

where $\operatorname{clos}(\cdot)$ : denotes the closure.
Proposition 3.2. Let $A, S \in \mathcal{L}(H)$ such that $S$ is invertible, $S \neq A$ and $S A=A S$. Suppose that $\lambda S-A$ is invertible for all $\lambda$ in some open subset $U \subset \mathbb{C}$ and $\left\|(\lambda S-A)^{-1}\right\| \leq M$, for all $\lambda \in U$. Then,

$$
\left\|(\lambda S-A)^{-1}\right\|<M, \text { for all } \lambda \in U
$$

Proof. A little thought reveals that what we must show is the following: if $U$ is an open subset of $\mathbb{C}$ containing 0 and $\left\|(\lambda S-A)^{-1}\right\| \leq M$, then

$$
\left\|(\lambda S-A)^{-1}\right\|<M, \text { for all } \lambda \in U
$$

To prove this assume the contrary

$$
\left\|(\lambda S-A)^{-1}\right\|=M, \text { for all } \lambda \in U
$$

If $\lambda=0$, then

$$
\begin{equation*}
\left\|A^{-1}\right\|=M \tag{3.9}
\end{equation*}
$$

Using the fact that $S A=A S$, then by using (ii) of Proposition 2.2, we have

$$
\begin{equation*}
(\lambda S-A)^{-1}=\sum_{n \geq 0} \lambda^{n} S^{n} A^{-(n+1)}, \text { for all }|\lambda|<\left\|A^{-1} S\right\|^{-1} \tag{3.10}
\end{equation*}
$$

Let $x \in H$ and $|\lambda|<\left\|A^{-1} S\right\|^{-1}$. Hence, by (3.10), we infer that

$$
\begin{aligned}
\left\|(\lambda S-A)^{-1} x\right\|^{2} & =\left\langle(\lambda S-A)^{-1} x,(\lambda S-A)^{-1} x\right\rangle \\
& =\left\langle\sum_{k \geq 0} \lambda^{k} S^{k} A^{-(k+1)} x, \sum_{j \geq 0} \lambda^{j} S^{j} A^{-(j+1)} x\right\rangle \\
& =\sum_{k, j \geq 0} \lambda^{k} \bar{\lambda}\left\langle S^{k} A^{-(k+1)} x, \sum_{j \geq 0} S^{j} A^{-(j+1)} x\right\rangle .
\end{aligned}
$$

Let $r \leq\left\|A^{-1} S\right\|^{-1}$. Therefore, for all $x \in H$ and $|\lambda| \leq r$

$$
\begin{equation*}
\left\|(\lambda S-A)^{-1} x\right\|^{2}=\sum_{k, j \geq 0} \lambda^{k} \bar{\lambda} j\left\langle S^{k} A^{-(k+1)} x, S^{j} A^{-(j+1)} x\right\rangle \tag{3.11}
\end{equation*}
$$

Integrating (3.11) along the circle $|\lambda|=r$, we obtain

$$
\begin{equation*}
\int_{0}^{1}\left\|\left(r e^{2 i t \pi} S-A\right)^{-1} x\right\|^{2} d t=\sum_{k \geq 0} r^{2 k}\left\langle S^{k} A^{-(k+1)} x, S^{k} A^{-(k+1)} x\right\rangle=\sum_{k \geq 0} r^{2 k}\left\|S^{k} A^{-(k+1)} x\right\|^{2} \tag{3.12}
\end{equation*}
$$

Using (3.12) and the hypothesis $\left\|\left(r e^{2 i t \pi} S-A\right)^{-1} x\right\| \leq M\|x\|$, then we arrive at

$$
\begin{equation*}
\left\|A^{-1} x\right\|^{2}+\left\|S A^{-2} x\right\|^{2} \leq M^{2}\|x\|^{2} \tag{3.13}
\end{equation*}
$$

Now pick an arbitrary $\varepsilon>0$. It follows from (3.9) that there is an $x_{0} \in H$ such that $\left\|x_{0}\right\|=1$ and

$$
\begin{equation*}
\left\|A^{-1} x_{0}\right\|^{2}>M^{2}-\varepsilon \tag{3.14}
\end{equation*}
$$

In view of (3.13) and (3.14) implies that

$$
\begin{equation*}
\left\|S A^{-2} x_{0}\right\|^{2}<\varepsilon r^{-2} \tag{3.15}
\end{equation*}
$$

Consequently, by referring to (3.15), we have

$$
1=\left\|x_{0}\right\|^{2} \leq\left\|\left(S A^{-2}\right)^{-1}\right\|\left\|S A^{-2} x_{0}\right\|^{2}<\left\|\left(S A^{-2}\right)^{-1}\right\| \varepsilon r^{-2}
$$

which is impossible if $\varepsilon>0$ is sufficiently small. This contradiction shows that $\left\|(\lambda S-A)^{-1}\right\|<M$, for all $\lambda \in U$.

Remark 3.2. (i) In Proposition 3.2, we proved that the S-resolvent of a bounded operator acting in Hilbert space cannot have constant norm on any open set.
(ii) Proposition 3.2 is a generalization of [3, Proposition 6.1].

Theorem 3.3. Let $\varepsilon>0$ and $A, S \in \mathcal{L}(H)$ such that $S$ is invertible, $S A=A S$ and $S \neq A+D$ for all $D \in \mathcal{L}(X)$ with $\|D\|<\varepsilon$. Then,

$$
\Sigma_{S, \varepsilon}(A) \subseteq \operatorname{clos}\left(\bigcup_{\|D\|<\varepsilon} \sigma_{S}(A+D)\right)
$$

Proof. Let $\lambda \in \Sigma_{S, \varepsilon}(A)=\sigma_{S}(A) \cup\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\}$.
First case. If $\lambda \in \sigma_{S}(A)$, we may put $D=0$.
$\underline{\text { Second case. If } \lambda \in\left\{\lambda \in \mathbb{C}:\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}\right\} \backslash \sigma_{S}(A) \text {, then }}$

$$
\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon} \text { and } \lambda \in \rho_{S}(A)
$$

This leads to $\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}$, for $\lambda \in \rho_{S}(A)$. Therefore, by Remarks 2.1 and 3.2 ( $i$ ), we obtain

$$
\left\|(\lambda S-A)^{-1}\right\|>\frac{1}{\varepsilon} \text { for all } \lambda \in \rho_{S}(A)
$$

This implies that there exists $y_{0}$ such that $\left\|y_{0}\right\|=1$ and $\left\|(\lambda S-A)^{-1} y_{0}\right\|>\frac{1}{\varepsilon}$. Putting

$$
x_{0}=\left\|(\lambda S-A)^{-1} y_{0}\right\|^{-1}(\lambda S-A)^{-1} y_{0}
$$

Therefore, $x_{0} \in H,\left\|x_{0}\right\|=1$ and

$$
\begin{aligned}
\left\|(\lambda S-A) x_{0}\right\| & =\left\|(\lambda S-A)^{-1} y_{0}\right\|^{-1} \\
& <\varepsilon
\end{aligned}
$$

Consequently, there exists $x_{0} \in H$ such that $\left\|x_{0}\right\|=1$ and $\left\|(\lambda S-A) x_{0}\right\|<\varepsilon$. By the Hahn-Banach theorem, there exists $x^{\prime} \in X^{\prime}$ such that $\left\|x^{\prime}\right\|=1$ and $x^{\prime}\left(x_{0}\right)=1$. We consider the following linear operator

$$
D(x):=x^{\prime}(x)(\lambda S-A) x
$$

Let us observe that

$$
\begin{aligned}
\|D(x)\| & \leq\left\|x^{\prime}\right\|\|x\|\|(\lambda S-A) x\| \\
& <\varepsilon\|x\|
\end{aligned}
$$

then we have $\|D\|<\varepsilon$ and $D$ is everywhere defined. Therefore, $D$ is bounded. Moreover, we have

$$
(\lambda S-A-D) x_{0}=0, \text { for }\left\|x_{0}\right\|=1
$$

Hence, $\lambda \in \sigma_{S}(A+D)$ and we can deduce that $\lambda \in \operatorname{clos}\left(\bigcup_{\|D\|<\varepsilon} \sigma_{S}(A+D)\right)$.
As a direct consequence of Corollary 3.1 and Theorem 3.3, we infer the following result
Corollary 3.2. Let $\varepsilon>0$ and $A, S \in \mathcal{L}(H)$ such that $S$ is invertible, $S A=A S$ and $S \neq A+D$ for all $D \in \mathcal{L}(X)$ with $\|D\|<\varepsilon$. Then,

$$
\Sigma_{S, \varepsilon}(A)=\operatorname{clos}\left(\bigcup_{\|D\|<\varepsilon} \sigma_{S}(A+D)\right)
$$

Theorem 3.4. Let $\varepsilon>0$ and $A, S \in \mathcal{L}(H)$. Then,

$$
\Sigma_{S, \varepsilon}(A)=\bigcup_{\|D\| \leq \varepsilon} \sigma_{S}(A+D)
$$

Proof. Let us assume that $\lambda \in \bigcup_{\|D\| \leq \varepsilon} \sigma_{S}(A+D)$. Then, there exists $D \in \mathcal{L}(H)$ such that $\|D\| \leq \varepsilon$ and $\lambda S-A-D$ is not invertible. If $\lambda \in \sigma_{S}(A)$, then $\lambda \in \Sigma_{S, \varepsilon}(A)$. So we can suppose that $\lambda S-A$ is invertible. Therefore, we can write

$$
\lambda S-A-D=(\lambda S-A)\left(I-(\lambda S-A)^{-1} D\right)
$$

Consequently, $I-(\lambda S-A)^{-1} D$ is not invertible which yields $\left\|(\lambda S-A)^{-1} D\right\| \geq 1$. This implies that

$$
\begin{aligned}
1 & \leq\left\|(\lambda S-A)^{-1} D\right\| \\
& \leq\left\|(\lambda S-A)^{-1}\right\|\|D\| \\
& \leq \varepsilon\left\|(\lambda S-A)^{-1}\right\|
\end{aligned}
$$

Hence, $\left\|(\lambda S-A)^{-1}\right\| \geq \frac{1}{\varepsilon}$. This enables us to conclude that

$$
\bigcup_{\|D\| \leq \varepsilon} \sigma_{S}(A+D) \subset \Sigma_{S, \varepsilon}(A)
$$

Conversely, we suppose for contrary that there exists a $\lambda \in \Sigma_{S, \varepsilon}(A)$ such that $\lambda S-A-D$ is invertible for all $\underline{D} \in \mathcal{L}(H)$ with $\|D\| \leq \varepsilon$. Setting $D=0$, we get the invertibility of $\lambda S-A$. It follows from Remark 2.2 that $\bar{\lambda} S^{\prime}-A^{\prime}$ is invertible. Setting $D=\mu\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}$ where $\mu$ is arbitrary complex number satisfying

$$
\begin{equation*}
0<|\mu| \leq \frac{\varepsilon}{\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|} \tag{3.16}
\end{equation*}
$$

For $\mu$ satisfying (3.16), we can write

$$
\begin{aligned}
\lambda S-A-D & =\lambda S-A-\mu\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1} \\
& =\mu(\lambda S-A)\left(\frac{1}{\mu}-(\lambda S-A)^{-1}\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right)
\end{aligned}
$$

Consequently, $\frac{1}{\mu}-(\lambda S-A)^{-1}\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}$ is invertible for $\mu$ satisfying (3.16) which yields

$$
r\left((\lambda S-A)^{-1}\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right)<\frac{\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|}{\varepsilon}
$$

Using the fact that $(\lambda S-A)^{-1}\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}$ is self adjoint, then we have

$$
\left\|(\lambda S-A)^{-1}\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|=r\left((\lambda S-A)^{-1}\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right)<\frac{\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|}{\varepsilon} .
$$

Hence,

$$
\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|^{2}<\frac{\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|}{\varepsilon}
$$

Finally, the use of Proposition 2.1 (ii) allows us to conclude that

$$
\left\|\left(\bar{\lambda} S^{\prime}-A^{\prime}\right)^{-1}\right\|=\left\|(\lambda S-A)^{-1}\right\|<\frac{1}{\varepsilon}
$$

which is a contradiction.
Remark 3.3. Theorem 3.4 is a generalization of T. Finck and T. Ehrhardt's result [9].

## References

[1] A. Ammar and A. Jeribi, A characterization of the essential pseudospectra and application to a transport equation, Extracta Math. 28, no. 1, 95-112, (2013).
[2] A. Ammar and A. Jeribi, The essential pseudo-spectra of a sequence of linear operators, Complex Anal. Oper. Theory 12, no. 3, 835-848, (2018).
[3] A. Böttcher, Pseudospectra and singular values of large convolution operators, J. Integral Equations Appl. 6, no. 3, 267-301, (1994).
[4] V. Fraysse, M. Gueury, F. Nicoud and V. Toumazou, Spectral portraits for matrix pencils (1996).
[5] A. Jeribi, Spectral theory and applications of linear operators and block operator matrices, Springer-Verlag, New York, (2015).
[6] A. Jeribi, Linear operators and their essential pseudospectra, CRC Press, Boca Raton, (2018).
[7] I. Gohberg, S. Goldberg and M. A. Kaashoek, Basic classes of linear operators. Birkhäuser Verlag, Basel, (2003).
[8] E. Kreyszig, Introductory functional analysis with applications, John Wiley and Sons, Newyork, Santa Barbara, London, Sydney, Tronto, (1978).
[9] S. Roch, and B. Silbermann, $C^{*}$-algebra techniques in numerical analysis. J. Operator Theory 35 , no. 2, 241-280, (1996).
[10] L. N. Trefethen, Pseudospectra of linear operators, SIAM Rev. 39, no. 3, 383-406, (1997).
[11] L. N. Trefethen and M. Embree, Spectra and pseudospectra. The behavior of nonnormal matrices and operators. Princeton University Press, Princeton, NJ, (2005).
[12] J. M. Varah, The computaion of bounds for the invariant subspaces of a general matrix operator, (1975).


[^0]:    2020 Mathematics Subject Classification. Primary: 47A53; 47A55; Secondary: 47A10.
    Keywords. S-pseudospectra, S-spectrum, linear operator, Hilbert space.
    Received: 30 March 2019; Revised: 17 June 2022; Accepted: 18 June 2022
    Communicated by Dragan S. Djordjević
    Email addresses: ammar_aymen84@yahoo.fr (Aymen Ammar), amenibouchekoua@gmail.com (Ameni Bouchekoua), aref.jeribi@fss.rnu.tn (Aref Jeribi)

